Measurement \Word Problems  MATH

MONKS

(O A baby giraffe is 72 inches tall. Another young giraffe in the zoo is 168 inches
tall. The baby is shorter from the young giraffe by how much?

2 Andrew cut a ribbon into 3 equal pieces of 6-inch length each. How long
was the ribbon before he cut it?

@) A building is 262 feet tall. A flagpole on top of it is 80 feet tall. How high is the
top of the flagpole from the ground?

@) Molly had a necklace that was 3 inches longer than Ava’s. Ava’s necklace
was 9 inches long. Lauren’s necklace was the largest and was 15 inches long.
How much longer was Lauren’s necklace than Molly’s?
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(8) A school bus is 27 feet long and a car is 14 feet shorter than the school bus.

How long is the car?
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(® Henry cut a 24-inch rope in 4 equal pieces. How long is each piece?




Measurement \Word Problems  MATH

MONKS
Answers

(O A baby giraffe is 72 inches tall. Another young giraffe in the zoo is 168 inches
tall. The baby is shorter from the young giraffe by how much?

96 inches

@ Andrew cut a ribbon into 3 equal pieces of 6-inch length each. How long
was the ribbon before he cut it?

(o
18 inches ﬁ

@) A building is 262 feet tall. A flagpole on top of it is 80 feet tall. How high is the
top of the flagpole from the ground?

342 feet

@) Molly had a necklace that was 3 inches longer than Ava’s. Ava’s necklace
was 9 inches long. Lauren’s necklace was the largest and was 15 inches long.
How much longer was Lauren’s necklace than Molly’s?

3 inches /)

(8) A school bus is 27 feet long and a car is 14 feet shorter than the school bus.
How long is the car?

13 feet

(® Henry cut a 24-inch rope in 4 equal pieces. How long is each piece?

6 inches




